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CORE ANALYSIS RESULTS - Corvected o Log Depth P

" (Figures in parentheses refer fo footnote remarks)
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1 ¢3S 4.1 - I 4 . | (1310 k- W Ss wh vig v/c] oot pyrite
2 1936 2.4 1.2 13,8 9.4  28.3 Ss wh vig V/cly gcay pyrike
3 7437 1.4 0.5 1l.1 9.9 26,72 Ss wh vig v/ely ccat oSyrite
4 | a38 R ) O 18,7 a3 WB,6 VE 8= wh viz w/ely ceor vyrire
9 14%9 0.5 0.5 10,8 0,9 42,5 Ss wh vfg v/ely scat pyrice
6 19490 0.3 0.8 2124 6.4 36,3 S& wh vz v/ely ceat pyrite
y 794/ 0.5 Qe - 13l L,6 39,0 S wh iz Ww/cly scos prrise
a8 T 0 6 4, 8% 23 3 4,9 38,2 ¥YF 83 wh vie w/oly coar pysise
9 794% 0,4 Qs L3 04 G5 35.5 Sa wh vfp /v/cly scif pyrise
10 1944 0.4 a8 2ol T 4522 Se ‘wA vig v/ely scat prrite
i T 45 0.4 @8 1022 U0 L7,.7 Sz wh vig v/cly
12 7944 <0, 1 =00 6.5 DO 5.0 Ss wh viz V/C1“
13 7947 Oq2 Dol ~ 10,3 0.0 37.0 Se wh vig v/ely
14 194%  «<0,1 <0,1 13.1 0,8 45,9 S8 wa vig v/icly
15 s 0.2 002 3.7 ¢, 0 40,1 Ss wh viz v/ely
16 1950 1 Op2 * 34,2 0.0 38,1 Ss wa vfg v/ely
7 7961 0.1 =0.15 10.9 0.9 062.4 Ss wh viz "/c‘" shly
18 Tear. €0, =6,1° 10,7 1.9 60,8 S wh vig v/ell saly
19 WmEE  #0,1  =0.1 . 12.6 1.6 62, Ss wh vig v/cly shiy
20 1964 <0.1 0,1 Gl 1.8 BZ2.% B8z vh wipg vw/fels & & v shly
121 7956 0.k &0 ¥ 6.9 Tat- H2.3 S8 wa viz w/idly & & pishly
22 7957 &, L Sl 5. 3.0 6.2 83 Ul Nl wiely 56 o ishiy
23 1956 0,1 =0,1L @G,1 0.0 57,4 ¥YF 8c wh vz vieliy o & p
24 959 <041 <018 Geo 0.0 52,4 YF Sawhwvic s/ely s & o
25 | (oo 0,1 . <01 5.9 00 50,3 Ss wh vig v/ely 3 & p
26 Al <0.1 <0.% (G Qa0 G075 S8 wh vig v/ely s.& p shly
2.7 62 <0,k =<0,1 Fe9 Oefls 1L, 1 Sg Wiy viz avfely & & o shly
23 963 Q.1 =0.1° 5.4 0.0 5.6 2 wa vis v/ely ¢ & 3 shly
29 79604 - <0,1L =0l 9.0 0.0 65,7 St Wi wip viely 8 & p snly
5 P98sT;, <01 <0,1 6,2 0.0 64,5 5 wh vig v/ely s & p shiy
a1 296h 0.2 Bl 8.0 1.2 63,7 Sz wh viz v/ely o & p saly
37 1967 <0,1 <0.1 G.% 1.0 GD.5 8s wh vfz v/cly 8 & D shly
33 Veeey 0, =0.3 2.2 .0 - 83,2 Ss wh vfg v/cly
1 1972 «0.,1 <0,1 3.9 0,0 £2.0 Ss wh vig v/ely slove
35 7918” <0.) -=0.1 4.3 0.0 90,8 Ss wh vfg v/ely clhly
36 7977 €0l  H0.E 3.5 S50 - 828 Ss wh vfz v/ely shly
37 7911 .1 =gy 2.7 0.0 - 540 Ss wh ving v/elvy s & p
38 7980 <0,1 <0.,1L 6,8 0.0 . 67.6 Ss wh vig v/ely s & p



30 7982

o

o1 0.2 . 92 0,0 7] Sz wh vig v/ely s & p p8
40 7963 - Ol = =01 = 9.8 0.0 45, Ss wh viz v/ely o & p
1 1964 0.l =029 9.9 0. b5 .5 Sg vh vig v/cly s & D
&2 1985 Q.1 0.1 10,0 B0 .43.0 Sa'wh viz vicly 5 & p
43 7966 Ol Ol 30,3 0.9« 45,6 Se wh vfg v/ely 8 & D
L4 7987 i 0,1 10,4 QL Ay o Ss wh vfg v/ely s & p
45 968 €0,) “=m0,1L . 8,0 Q0. - 68,3 Ses wh vig viely 5 & p
S 46 1989 g <01 1.0 1.4 W S wa vig v/ely s & p°
&7 ya90 20,1 "Bt T 56 0,8 16,5 Ss wh vig v/cly ¢ & p shly
48 799/ 0.1 20,1 Bal D) 7L.0 S¢ wh via viely s & p
e 7992 20,1 =01 . 5.6 0.0 70,0 Sg wh vfz v/ely ¢ & p shly
50 797% €0} =05l 6.1, 0.8 50,9 Ss wh vig v/cly s & p
51 7294 0.1 0,1 7.2 0.0 51 .5 Ss wh vfs v/cly s & p
L 2994 Clreds (0 g ol Q.0+ 58 6 Ss wh %wfz v/cly ¢ & p
53 7996 20,1 =0 9"6.2 Lo 52,5 Ss wh vfg v/cly s & p
5t 1997 0] | Ot Vo8 2.6 4l.5 Ss wh vfg v/ely 8 & p
59 7946 0.3 Oz 6% 0.0 48,5 Ss wa vig v/ely 3 & p.
56 19449 0,2 - 0.1 " 7.2 0.0 59,7 Sz wh vig v/ely s & p cerdle
57 Boe Os) =<0,1 - 6.1 0.0 4].5 Ss wh vfy v/iiy s & p
58 #&oel Qo2 w01l Gyl Q.0 31,2 V¥ S8 wn Wis viely 5 & b
56 Booz 0,1 - =01 8.8 0,0 65,0 Ss wh vig v/ely s & »
£9 Soo3 0.1 «b.1 5.8 0.0 - 38,0 Ss wh vig v/cly 3 & p
oL @eod <0, 1 =0l - 5.5 0.0 .. ©9.0 S8 vwh wie viely s & p
+ G2 poos <0, L <0, 1 4,3 0.0 46,5 S8 wh vig v/ely s & D
63 Hook 0.0 =0.1 4.2 0,0 69,0 Ss wh vig viely s & p
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